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ROk | FHR| OBk | F#k | RcER | FHR | R | FHR| SEE | FR
11 |B& BBX 14.6 6 3m62cm | 10
12 | KA 51m28cm| 11
13 |BE # 15.1 8 10.7 9 1m25cm | 5
15 |8K EX 15.2 8 11.1 11 | 3m67cm | 10
16 |HhET & 3m19cm | 15
17 |HEKRER 11.8 14
18 |AR A& 43m96cm| 15
19 |HRE &2 15.9 11 35m35cm| 19
21 |&+ BF 145 5 10.1 7 |4mi12cm| 6
22 |BEK EHh 13.6 2 10.3 8 3m69cm | 10
24 | B 15.5 9 11.3 12 | 3m59%cm | 11
98 |[A&R BEF 3m49cm | 12
28 | K=bIEY 15.7 6 11.2 7 Tmi12cm| 5
29 |iGfn 1B 12.2 11 Tm12cm| 5
30 |/hEx #%EF 17.3 12
32 |35 MF 16.7 10 12.2 11
33 |AMEF| 16.1 8
38 |BE iE 1m00cm | 10
39 |LURE K 16.3 12
40 B4 BE— 16.5 13 Tm12cm| 8
43 |fAHE EHH 1m00cm | 10
44 |ILg K&K 15.2 8 11.2 11 |3m99cm | 7
45 |#t L B 16.0 11 3m36cm | 13
109 |EfE RE 3m44cm | 12
12 |Eg & 14.8 6 10.8 10 Tm19%cm| 7
13 | =M B 16.3 12 3m32cm | 13
47 |k R=E 15.2 4 11.1 7 3m69cm | 6
48 |/NEREHEFI | 16.3 8
49 |BK EK 15.7 6 41m98cm| 6
108 |BEH EHt 2m91cm | 12
100 | = =8 17.7 14 2m86cm | 13
57 |=H & 16.3 12 3m39%cm | 13
70 [(EE tiE 17.3 12 35m23cm| 9
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